Odd and Even
Think of Noah’s Ark. The animals pair up 2 X 2. Every animal has a partner. Noah will have an even number of animals on his ark, he can’t have odd if every animal has 1 partner.   
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Noah could have 2,4,6,8,10, 12, ___, ___, ___, ___,  …. Animals on the ark.

He could not have 1, 3, 5, 7, ___, ___, ___, ___, ___, ___
What pattern do you see? _____________________________________________________
__________________________________________________________________________
These are odd numbers:                                        These are even numbers:

11 





12

13 





14

15 





16

17 





18

19 





20

21 





22

23 





24

25 





26

27 





28

29 





30

List 5 numbers over 100 that are odd:

_____    _____    _____    _____    _____ 

List 5 even numbers over 100.

_____    _____    _____    _____    _____ 

